Switching Mark Scheme

1. (a) 

Circuit involves setting up the route before the message is sent.

Packet involves sending the message in segments of equal size, each of which finds its own route to the destination.
[2]

(b) 

Circuit means that the message does not have to be reassembled.

Packet means that the message is almost impossible to intercept / The network is not dedicated to the transmission of one message.
[2]
2. (a) 


– Message split into equal sized packets

– each packet labeled

– Each packet travels independently

– At each node label checked and packet redirected.

– Must be ordered at destination and re-assembled.

(1 per –, max 3) 

[3]

(b) 

A: – Allows optimum use of network/less chance of message being intercepted/if a route is congested or blocked an alternative route is used.

D: – Travels at speed of slowest packet/Must be reordered at destination.

(1 for advantage and 1 for disadvantage, max 2) 

[2]
